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1999 = 1996
2002
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46%x 95%  19%x 95% Q%x 95% + Sl%x 95% = 73.8% 1996
46%x 95%  17%x 95%  10%x 95% + 5%x 95% = 73.8% 2002
73.8% + 73.8% /2 = 73.8%
S% - 5%
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49%x 95% 4%x 95% 1%x 95% 15%x 95% = 65.4% 1993
49%x 95% 3%x 95% 1%x 95% 15%x 95% = 65.0% 1996
65.0% + 63.2% / 2 = 65.2%
S% — 70%




4
4 18
4
@) X X
X X
0 12 2009 2013 1997
2001 1996
- 1996 2001

33%x 95% 3%x 95% 1%x 95%
53%x 95% 3%x 95% 1%x 95%
85.2% + 87.2% / 2

S%

52%x 95%
35%x 95%

= 85.2% 1996
= 87.2% 2001
= 86.2%

- 90%




an







(
o3%x 80%  19%x 80% 9%x 50% =62.1% 1983

49%x 80%  18%x 80% 8%x 50% = 57.6% 1990

62.1% + 576% /2 = 59.9%
5% = 60%
e 20

(
49%x 90%  18%x 90% 8%x 90% + 14% x 90%

= 80.1% 1990
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59%x 80% 2% 80% 4%x 80% = 52.0% 1983
49%x 80% 4%x 80% 1%x 80% = 43.2% 1993

52.0% + 43.2% / 2 = 47.6%
5% = 50%
e 20

(
49%x 90% 4%x 90% 1%x 90% + 43% x 90%

= 87.3% 1993
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(
92%x 80% 3%x 80% 2%x 80% = 45.6% 1983
60%x 80% 3%x 80% 2%x 80% = 52.0% 1993

45.6% + 52.0% / 2 = 48.8%
5% = 50%
e 20

(
92%x 90% 2% 90% 4%x 90% + 33% x 90%

= 81.9% 1993




